CMR
INSTITUTE OF USN |1 |C|R |1 E|E

TECHNOLOGY

Internal Assesment Test — 1
Sub: Computer Aided Electrical Drawing (Professional Elective) Code: 15EE651

Date: 06/03/2019 Duration: 90 mins Max Marks: 50 | Sem: 6 Section: A & B Batch: 1

Answer ANY One question. Explain your notations explicitly and clearly.
Sketch figures wherever necessary. Use AutoCAD Software for drawing. Good luck!

OBE
Marks—co  [reT
Q1. Draw the armature winding of a dc machine with the following data: no. of poles = 4; no. of
slots = 16; double layer, simplex progressive lap. Show the position of the brushes, direction
of the rotation of the machine when working as a generator, and the equalizer rings. Also, [50] cOi L3

draw the sequence diagram.

OR
Q2. Draw the armature winding of a dc machine with the following data: no. of poles = 4; no. of
slots = 14; double layer, simplex progressive lap. Show the position of the brushes, direction
of the rotation of the machine when working as a generator, and the equalizer rings. Also,
draw the sequence diagram.

[50] CO1 | L3

ICN'\g$ITUTE OF USN 1|/CIR 1 E|E
TECHNOLOGY =) CMRIT
Internal Assesment Test — 1
Sub: Computer Aided Electrical Drawing (Professional Elective) Code: 15EE651
Date: 06/03/2019 Duration: 90 mins Max Marks: 50 = Sem: 6 Section: A & B Batch: 2

Answer ANY One question. Explain your notations explicitly and clearly.
Sketch figures wherever necessary. Use AutoCAD Software for drawing. Good luck!

OBE
Marks—co  [reT
Q1. Draw the armature winding of a dc machine with the following data: no. of poles = 4; no. of
conductors = 24; double layer, simplex progressive lap. Show the position of the brushes, col | L3

direction of the rotation of the machine when working as a generator, and the equalizer rings. [50]
Also, draw the sequence diagram.

OR
Q2. Draw the armature winding of a dc machine with the following data: no. of poles = 4; no. of
slots = 18; double layer, simplex progressive lap. Show the position of the brushes, direction
of the rotation of the machine when working as a generator, and the equalizer rings. Also,
draw the sequence diagram.

[50] CO1 | L3

ICN,\g$ITUTE OF USN 11C|R|1 E|E
TECHNOLOGY ) CMR
Internal Assesment Test — 1
Sub: Computer Aided Electrical Drawing (Professional Elective) Code: 15EE651
Date: 06/03/2019 Duration: 90 mins Max Marks: 50 | Sem: 6 Section: A & B Batch: 3

Answer ANY One question. Explain your notations explicitly and clearly.
Sketch figures wherever necessary. Use AutoCAD Software for drawing. Good luck!

OBE
Marks—co  [ret
Q1. Draw the armature winding of a dc machine with the following data: no. of poles = 4; no. of
slots = 12; double layer, simplex progressive lap. Show the position of the brushes, direction co1 | L3

of the rotation of the machine when working as a generator, and the equalizer rings. Also, [50]
draw the sequence diagram.

OR
Q2. Draw the armature winding of a dc machine with the following data: no. of poles = 6; no. of
slots = 18; double layer, simplex progressive lap. Show the position of the brushes, direction
of the rotation of the machine when working as a generator, and the equalizer rings. Also,
draw the sequence diagram.

[50] COl @ L3



Scheme of Evaluation

Internal Assessment Test 1 — March 2019

* CMR INSTITUTE OF TECHNOLOGY, BENGALURL.

REDITED WITH A+ GRADE

BY NAAC

Sub: CAED Code: 15EE651
Date: | 06/03/2019 | Duration: | 90 min | Max Marks: | 50 [ Sem: [6" | Branch: | EEE (Batch 1)
Note: Answer Any ONE Question
Question Description Marks Distribution Max
# Marks
Draw the armature winding of a dc machine with the
following data: no. of poles = 4; no. of slots = 16; double
layer, simplex progressive lap. Show the position of the
brushes, direction of the rotation of the machine when
working as a generator, and the equalizer rings. Also,
draw the sequence diagram.
1. Calculation of Pole Pitch (Y¢) 1. 4M
1 2. Calculation of Back Pitch (Yg) 2. 4M 50 M
3. Calculation of Front Pitch (Y¢) 3. 4M
4. Winding Table 4. 4M
5. Pole Placement 5.
a. Calculation of Length of Pole a. 2M
b. Calculation of Width of Pole 6 géMZM
6. Drawing in AutoCAD 7 IM
7. Sequence Diagram 8. AM
8. Equalizer Rings '
Draw the armature winding of a dc machine with the
following data: no. of poles = 4; no. of slots = 14; double
layer, simplex progressive lap. Show the position of the
brushes, direction of the rotation of the machine when
working as a generator, and the equalizer rings. Also,
draw the sequence diagram.
1. Calculation of Pole Pitch (Ye) 1. 4M
9 2. Calculation of Back Pitch (Yg) 2. 4M 50 M
3. Calculation of Front Pitch (Y¢) 3. 4M
4. Winding Table 4. 4M
5. Pole Placement S,
a. Calculation of Length of Pole a. 2M
b. Calculation of Width of Pole 6 géMZM
6. Drawing in AutoCAD 7' M
7. Sequence Diagram 8. AM
8. Equalizer Rings '




Scheme of Evaluation
Internal Assessment Test 1 — March 2019

* CMR INSTITUTE OF TECHNOLOGY, BENGALURL.

REDITED WITH A+ GRADE

BY NAAC

Sub: CAED Code: 15EE651
Date: | 06/03/2019 | Duration: | 90 min | Max Marks: | 50 [ Sem: [6" | Branch: | EEE (Batch 2)
Note: Answer Any ONE Question
Question Description Marks Distribution Max
# Marks
Draw the armature winding of a dc machine with the
following data: no. of poles = 4; no. of conductors = 24;
double layer, simplex progressive lap. Show the position
of the brushes, direction of the rotation of the machine
when working as a generator, and the equalizer rings.
Also, draw the sequence diagram.
1. Calculation of Pole Pitch (Y¢) 1. 4M
1 2. Calculation of Back Pitch (Yg) 2. 4M 50 M
3. Calculation of Front Pitch (Y¢) 3. 4M
4. Winding Table 4. 4M
5. Pole Placement 5.
a. Calculation of Length of Pole a. 2M
b. Calculation of Width of Pole 6 géMZM
6. Drawing in AutoCAD 7 IM
7. Sequence Diagram 8. AM
8. Equalizer Rings '
Draw the armature winding of a dc machine with the
following data: no. of poles = 4; no. of slots = 18; double
layer, simplex progressive lap. Show the position of the
brushes, direction of the rotation of the machine when
working as a generator, and the equalizer rings. Also,
draw the sequence diagram.
1. Calculation of Pole Pitch (Ye) 1. 4M
9 2. Calculation of Back Pitch (Yg) 2. 4M 50 M
3. Calculation of Front Pitch (Y¢) 3. 4M
4. Winding Table 4. 4M
5. Pole Placement S,
a. Calculation of Length of Pole a. 2M
b. Calculation of Width of Pole 6 géMZM
6. Drawing in AutoCAD 7' M
7. Sequence Diagram 8. AM
8. Equalizer Rings '




Scheme of Evaluation

Internal Assessment Test 1 — March 2019

* CMR INSTITUTE OF TECHNOLOGY, BENGALURL.

REDITED WITH A+ GRADE

BY NAAC

Sub: CAED Code: 15EE651
Date: | 06/03/2019 | Duration: | 90 min | Max Marks: | 50 [ Sem: [6" | Branch: | EEE (Batch 3)
Note: Answer Any ONE Question
Question Description Marks Distribution Max
# Marks
Draw the armature winding of a dc machine with the
following data: no. of poles = 4; no. of slots = 12; double
layer, simplex progressive lap. Show the position of the
brushes, direction of the rotation of the machine when
working as a generator, and the equalizer rings. Also,
draw the sequence diagram.
1. Calculation of Pole Pitch (Y¢) 1. 4M
1 2. Calculation of Back Pitch (Yg) 2. 4M 50 M
3. Calculation of Front Pitch (Y¢) 3. 4M
4. Winding Table 4. 4M
5. Pole Placement 5.
a. Calculation of Length of Pole a. 2M
b. Calculation of Width of Pole 6 géMZM
6. Drawing in AutoCAD 7 IM
7. Sequence Diagram 8. AM
8. Equalizer Rings '
Draw the armature winding of a dc machine with the
following data: no. of poles = 6; no. of slots = 18; double
layer, simplex progressive lap. Show the position of the
brushes, direction of the rotation of the machine when
working as a generator, and the equalizer rings. Also,
draw the sequence diagram.
1. Calculation of Pole Pitch (Ye) 1. 4M
9 2. Calculation of Back Pitch (Yg) 2. 4M 50 M
3. Calculation of Front Pitch (Y¢) 3. 4M
4. Winding Table 4. 4M
5. Pole Placement S,
a. Calculation of Length of Pole a. 2M
b. Calculation of Width of Pole 6 géMZM
6. Drawing in AutoCAD 7' M
7. Sequence Diagram 8. AM
8. Equalizer Rings '
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Sequence diagram

O+ve
O-ve

Direction of
Rotation
-Ve o
+ye o
To equalizer
ring

MANJUNATHA N

1CR16EE043
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Sequence diagram

B : kl O+ve
Direction of O-ve
Rotation

-Ve o
+yve O
To equalizer
ring
1CR16EE043
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Sequence diagram
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Q4

Sequence diagram

Direction of
Rotation
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Sequence diagram

Q5

Equalizer rings
h
6

><<

N N\ N\
AN N AN
}3\19 ?fh21
7
%
(/]
(/]

)’ A
\’\

1&11 1"\13 12% 16\ 17

7
.

A 3
%
&¢

X

1CR16EE043

7777777

o

A

e

83|10 5|12 7]14]9 [16]11]18] 131 20| 15]22 17| 24| 19| 2 | 21| 4 | 23] 6 | 1

4

1
1

21

DOR
//\
23
21 23

19

-ve
+ve

12

1

Scanned by CamScanner

10

N\

7

1

l

7

MANJUNATHA N



s,

Praus avm/luﬂ
Slds =1y, O ,SFPL Shew

P=€,s=rg spr, DL

2= Sxh
Sty xt

whi”:ipitct}ﬁ!((

>~ 0'-13-.):50
= 3F-Smm

4
a’ c{_”a(‘ﬂ;"‘f _',Jlf-l_ sy

('AJ ; -~ ";

Zw,\ah’\ , avd T ¢WJL/’} 7/vgh. /’5m oo, % 2

T ——
S g ¥ ae o g~z
!.‘f"‘i:ﬁ P JA e -f ip:'f" '151.)':._’,-;'
# J §
F # = b
2 ! o /\.,,J, L&Y %4,” GE -
i TN tﬁn. ternrh LDOK T - & R

5 7}2

\’t
N

ekd

'll L.
Ly Os

L

X \l’\\\ |

A
0 l.
- \u I?

..?\

ey
I »

LY

r\h

v Yo
(VS
N

Mo
(A)
M0

NI

R R
e

A

(7 o

¥
=

(v

29%)
35 4&5’4)
(1) 377

w

Scanned by CamScanner



+ve
ve

Manjunatha N
1cr16ee043

ve
+ve
Equaliser rings

7
/ e ~
s ya ~

Scanned by CamScanner

(77772772 ‘
B s

\\k

:r//f/f//ﬁ %
AN N

GNP

iR EEE

z“\\\\\\\\ ‘ _
B & -‘

&\&Q

10

< 7//////1
//‘ -
AN % .

N

.\ Z\\““\\\\\L ‘ w
m\\ 7 -‘

: \\\«\&




